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PR 22 ) $2 4l (iterative learning control, ILC) 2% fE 44 il H B A = 4%
Bp R i — AN . 1984 4, Arimoto' ™ 45 AR H T 2% AR 2 o Fa il G 4
LS RE S T REA B SR EXN S, BRI T RGN
BB A i LA B 5 O 2 Ak B OAS 1 5 B2 AH 24 e A I £k o A A B
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5.1 #=HIEFEs HENEENIIMFIENE

A 8 2o ok SCHRL 4 B0 4 i J7 95 2E AT TR AR 4 5 L 5 o3 #r L F T — 2R AL
BT LIk AN A T 4 B BT . I B X 2 A 5 ik A AR Y TR
IR v VA Dl 7 = R 7

5.1.1 @RSl

ZE o R TF, KIS HRENT .

D’ ()G (1) +Cq’ (1) ,q’ (t))q’ (1) +G(q’ () ,q’ (1)) +T,(t) = T (¢)
(5.1)

Ho,j Rk Ec€[0,0,].q" () ER" Fl g7 () €R" 4351 &5 1 FE
FrH RN D (@’ (1) ER NPT .C (¢’ (1) .q7 (1))q’ (1) ER”
FRBEO N AER S1.G (g’ (1) .q" (1)) ER" N E S INEEEE i, T, (1) ER”
Jul EE AR T T () R Jy il A .

HLAK T h 25 7 #2020 T Rk .

(1) D (g’ () R R FRIESE 1Y F 55 B 5

(2) D(g’ (1)—2C(q" (1) () RRIXTFREE , B & x™ (D (g’ (1)) —
2C(q" (1) ,q’ (t)))x=0,

MU T s 25 7 R 2 a0 F (B ik 45 1

(1) BB q,(OFE t €10, N =Bl F;
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(2) LA R R IR 2R B . (0) —¢7 (0)=0,9,(0)—¢q' (0)=0,j EN,

5.1.2 #fIgsicith

xR G5, D) W R WL AR (D FTC2) PR AR BE (D FC2) , s il i itk

T (t)=Kle(t)+Kiée(t)+T "), j=0,1,.N (5.2)
i o A v 3 £ D g K0
K, =BG)K,, K,;=B(G)OKy, BG+1 =>p3G) (5.3)

Hrp,j=1.2,,N., T "(1)=0,¢' (1)=q,(t)—q’ (),¢’ (1)=q,()—q’ (t).K), F1 K| N
PD 5 il ) B 0 6T 1 34 25 B LA M IE 2, 8GO il 25, FL 2 BGH>1,

LM E SRR G. DR T ER ST (g, (). q,. (). q, () RHBEEHA
A G DT R A XD (&Nl

aD
D(qg)=D(q) + —
q qq q

(Q*qd) +OD(')

,H\:EP 70D(.)y‘j D(Q)*M%ﬁﬁﬂ@ﬁf%eﬂﬂ

.. .. dD .. ..
—D(@)g=—D(q)q——=—| eq —0,()q
ﬂq qq
.. . . .. dD . .
D<qd>qd*D(q>q:D(qwqd*D(qd)q*ﬁ eq —0(+)q
¢ L

. ID
D(qé+
Iq

ge=D(q,)q, —D(q,)q —0,()q
14

HT
aD aD aD aD
. D ("+"(—"()e=7‘ A
g 14,9 ag 1, 10470 ], 99 0 1,
i
.. dD .. aD . . .. .
D(gppe+—| qie———| ee=D(q,)q,— D@ )q—0,(+)q (5.4)
Qq 94 f)q 94
[] 2
) . aC ac ..
Clg.q)=Clqu-q) + 5 (@—q)+—| (=g F0c()
9q Tag-ay dq 9444
... dC . ac .. dacC aC ..
Clg,q)ée+—-——| . qeet+—| . qeé— 5 _ee— —|  ee
(7q 4494 r7q 94°9q aq 9q4°9q r7q 94794
=C(q,:9.)9,—C(g.q)qg —0:(+)gq (5.5)
. . G G . .
G(q.q9)=G6G(qyq)+ - (g—q)+——| (g —q)+0:()
9q 1ag-a4 (7q 94794
IG IG . .
— e+ = . e=G(q,,9,) —G(q,q) +0:;(+) (5.6)
()q 94°94 (7q 44°94
(5. 4) .G O FIRG. 6)
D(t)e+[C+C,]Jé+Fe+n(é,é.e.,t)=H—(D§J+Cq+G) (5.7)
Hrh



aD

Iq

ZWEHERZET n(e.e e ) G, DICARG. 7, B j WE RS Azt RN
D)e' (1) +[C)+C,()]e! (1) +F (e’ (¢) —T,(t)=H ) —T (¢)

ac
ee — —
94 r’)q

ac .. ; . .
. ee — — cee +0p()g+0:.()qg—0;C)
94°9q ;)q 94°9q

n(é-aé aest) -

Hrp
D) =D(q,(t))

C(t)=C(q,(t),q,(t))

JC . JIG
CI(Z):% . qd(t)+(. .

(’}q q,(0).q O (’)q q,(0)q 4O

aD . aC . IG
F() = q.(t) +— q.(t) +

aq a0 Aq a4, aq g,

H@) =D, t))§,(t) +C(q, ()¢, ()G, (1) +G(g (1))
EEXEES G OREACAIES § 1 B TR G. DA 5 R
D@We (1) +[C)+C, ()] (1) +F)e' (1) —T,(t)=H()—T (1)

(5.8
D& (DO +[CH+C)]e () +Fwe (1) —T, (1) =H() —T (1)
TR LK =AK L I 5E X
Y () =¢ )+ Ae’ (1) 5.9

SCHkLAJFE T .
TS 1 RKRSERG. D LN AP, P2 FIR % S (A1, A2) . R4
R (5. 2) e HBG 25 U1 i = (5. 3) T e €[0,6, . A

RS S SR TR O S A
LA i) 1 25 T EE R T S
[, =Aum(K,+2C, —2AD) >0
[, =2 (K§+2C+2F/A—2C,/A) >0 (5.10)

2

‘ |F/A—(C+C,—AD)

{1,)1,, >

Hop 2 (AN A i/ NMEEME, [ M| o=max | M@ [ e €[00, | M || B M
A K EG S8

5.1.3  Wedovksr b

S 3CER 4] g TR e 5.1 B St E o B AU . & L Lyapunov BREUH
\% :Jl exp(—pr)y 'Ky’ dc =0
0
Hor K >0 9 PD # i D 861 50 5 91 R 318 25 . 0 O 1E SE%K
N GREC
Sy =y’ —yl =& A’ — (¢ +Ae’) =0¢’ +Ade’ (5.1D)
=0 (5. 8) 7%

i
o]
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D) (1) —e (1) =—[Ct)+C ()] () —¢é (1)) —
F() e (1) —e (1) — (T (1) — T (1)) (5.12)
A5 1D R (5. 12) 1%
Doy =Dde’ " +DAGE =D&’ — &) +DA (&7 —é)
=—[CW+C (D] W) —é ) —FW ") —e 1)) —
(T () —T' (1)) +DA (&' —¢é)
=—[Ct)+C,(1)]0é' —F(t)de’ — (K, ™e’ (1) + K¢ (1)) +
DA (¢ —é)
K\ =AK) M1 (5. )M K, ' =AK, " HEFR (G 11D, a4
DOy =—[C+C,J(0y —Ade’) —F(1)de’ + DA (¢ —é') —
(AK e’ " +Kié)
T
DA (/7' —é)=DA[(y "' —Ae’) —(y —Ae’)]=DA Sy — DA *de’
AK e/ KT =K (Al T 60T =Ky T =K Sy +y)
|
DOy =—(C+C )0y —Ade’) —Fde’ +DASy —DA *6e’ — K, 0y’ +y')
=—(C+C, —AD +K,")dy —(F—A (C+C, —AD))de’ — Ky’
ny
K"y =—Ddy —(C+C, —AD +K};™)oy —(F—A (C+C, —AD))de’ (5.13)
MV E 1R
\%hs :J.;exp(f‘or)yjfl’rKﬂy"*1 dr
EX AV =V =V iR (G IR G 1D IR G IR AL

AV :J exp(—p) 3y +y ) K}y +yHdr *J exp(—po)y’ Kiy'de
0 0
:Jl exp(— o) 0y’ K50y 420y Ky )de
0

:ﬁj exp(—pr) 3y’ K8y’ + 28y Ky )dr
7 0

_ 1 J’ _ R R S I T J' _ i’ i
_B(j+1){ Oexp( eT)oy Ky dy'dc—2 0exp( pT)oy’ Doy’ de

2[' exp(— )0y’ ((C+C, —AD + K" )8y’ + (F —A (C+C, —AD))de’)dr
0

N 3 AR 4y T i RIS UR S CA2) FT oy’ (0) =0, Il

z —ﬁ (exp(—pr)@y"TD)'(?yjdr

0 0

JT exp(—pr)&y”rDSy"dr =exp(—pr)8y’virD8y”‘
0
— exp(— )3y’ (DD (1) +pJ exp(— p)dy’ DOy dr —
0

J exp(*pz‘)ﬁyj’rDéjjdr fJ exp(— pr)c?yjrl‘l')éyf dr
0 0



A b 2 o [ 100G 0L 15
zJ;expepr)ayf'Day'f dr =exp(— p)dy’ (DD )3y (1) +
‘OJ; exp(— pr)@y”rDSy-’ dr — J; exp(— pr)8y’T Dﬁy-’ dr
it (P2) , W] 15
j;é‘y’TD.Byjdr ZZJ;SijCSyj dr
I

AV = —exp(—p)dy’ D)3y’ (1) —pf exp(— p)dy’ DOy dr —
0

|

G+D
2JI exp(—pr)dy’ (F—A (C+C, —AD))de’ dr —

0
J' exp(—p)dy’ (Ki™ +2C, —2AD)dy’ df}
M T

J' exp(—pr)dy’ K0y dr =BG + 1)J1 exp(— pr)dy’ Kioy' de
>Jlexp(*pr)6ijK36yjdr

ARG 1D 0 oy’ Il 0¢’ +Ade’ .15

AV < {— exp(— )0y’ D)3y (1) —pf exp(— pr)dy’ DOy dr—
0

zf;exp(—pﬂaé-” (F—A(C+C, —AD))de' dr —

2 A J;exp(—pf)é\ejT (F—A (C+C, —AD))de’ dr —
J-;exp(*pr)&;ﬁ (K +2C, — 2AD)0é’ dr —

2 A J;expwpr)ae/"f (K +2C, — 2AD)0é’ dr —

A J exp(—pr)de’ (K, +2C, —2 A D)de’ dr

0

I o W0 AR 2 5 1 ARGE R IR 25 AT Se’ (0) =0, U

J exp(— pr)de’ (K'+ 2C, — 2AD)0¢’ dr = exp(— pr)de’ (K4 2C, — 2AD)de’ | —
0 0

J' — pexp(—pr)de’ (K4 2C, — 2AD)de’ dr —
0

J' exp(— p)0é" (K +2C, — 2AD)de’ dr —
0

J' exp(— pr)de’ (2C, — 24 D)de’ de
0

B b 3P [ T 5 9 K P S [R] e LAA 45

i
ik
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2A j e de’ (K4 2C, — 2AD)8¢’ dr = Aexp(— pt)de’ (K5 +2C, — 2AD)de’ +

0

oA J exp(— pr)de’ (K +2C, — 2AD)6e’ dr +
0

2 A J exp(— p)de’ (AD — C)de’ de
0

il
. 1 LT .[ LT .
AV? <W{exp(‘or)8y’ D6y](t)*pJoexp(*pr)6y’ Doy’ dc —
Aexp(—pr)de’ (K +2C, —2AD)de’ —
oA J exp(— p)de’ (K + 2C, — 2AD)de’ dr —Jt exp<—pr>wdf}
0 0
<1 [~ exp(—pe2dy Doy (1) — J (—00)8y Doy de—
\,8(]'+1) exp(—p7r)dy y o Oexp oTIO0Yy y’dr
Aexp(—pr)ﬁe”rll)8ej—pA J[ exp(—pf)8e1’rl/,8efdr —JI exp(—pt)w dr}
0 0
Hr

w=06" (K +2C, — 2AD)3¢’ + 286" (F —A (C+C, —AD))de’ +
2A 8¢’ (AD — C)de’ +A0e’ (K\+2C, —2AD)de’ +
2400 (F—A (C+C, —AD))de’
=8¢ (K} +2C, — 2AD)8é" +2A 06" (F/ A — (C+C, —AD))de’ +
A’de’ (Kj42C+2F/ A —2C,/ A)de
BQ=F/A —(C+C,—AD) U H = (5.10) .43
w=1,166|"+2A86"Q6e+ AL | el

* A Cauchy-Schwarz R4z, A
d¢'Qde=—lloell QI ..l del

w =1, 8¢ ]l" =24 166 | || @Quu | 16ell +A7%1, [ del”

A : , 1 ‘ ‘
I Qull e ll) +a%(t, = @li) ldel* =0

Z b P

=1, (laél —

N AV, <0, JP
Vi <LV

T K NIEEM, V>0 BV G j—coff,y/ (1)—=>0, BT e (OF e’ (1) NHH
HARSL R ARG A N IESE TR AN G oo I el (1) 0,67 (1) >0, €[0,1],

SRUN S T RS 7o

D g D, O g, ¢ € [0ut]

FEHL S, 1 R I BN R 2 AL BT R R EE M T AN T 4 M Bk 25 i
n(e’ é’ e o) BT 3 Jy 2 07 e il 7€ 09 . BF X IX — IR 5. 2 9 P 4 i 1 ok i G 4
il .
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Bl

1

B X T AL T sh 2 5 2 (5. D BEA 705 B 5 F2 P B 45 100 x

i, +i,+2m,r,licosq, i, +m,r,licos(q,) &

D(g)=| . . 3

i, +m,r,l,cos(q,) i, o

.o . .o R

Clari) = *mzrzquzsm(qz) —m,r,l, (g, + q,)sin(q,) »j.

m,r,lq,sin(q,) 0 s

Cla) — (m,r, +m,l,)gcosq, + m,r,gcos(q, +q,) .1?\!
- myr,gcos(q, +q,)

AfERZ TN d, (1) =a0.3sint, d,(1)=a0.1(1—e Dya=1.T,=[d, d,]".
RGESHW m, =10, m, =5, [,=1, [,=0.5, r,=0.5, r,=0.25.i,=0. 83+t m,r{ +

. 2
mylis1,=0.3Ftm,r;,

1 0 Sebe ML N
FBEN LT g, — sindt g, — cosdt s IRA — [0 J FE WSROI K = K =
A ’ ] ] J K’ J S0 -
0 210 ’B(]):ZJ ’K'p:Z]pr d:ZJKd,]:l’Z’...’ND

RGEMWIERE R x=[3 0 0 1770 =5, ACREIM S W, fHESRILE S 1 =
Kl 5.5 FiR,

qld, gl
=]

time/s

q2d. q2
(=]

th=

0 I 2 3 4
time/s

Bs5.1 WXFSsRERNAEREITRE

= 0/ ] Change of maximum absolute value
= B of error] and error2 with times i
= 0.5 T T T T
= —Ir 1
2 )
0 [ 2 3 4 5 %
time/s 5
2 T T 2
=
g | z
d o
Q@ 0
-1 L ' ~H
0 1 2 3 ) 5 0 1 2 3 4 5
time/s time/s
Bs5.2 WEXTESKHNAERE B 5.3 Wk 5 RAERENIRERSTE



dqld, dql

time/s

L

dq2d, dq2
=

R

t=1[0:0.001:5]";

T1(1:5001) = 0;
TI=T1';

T=[TL T2];
k(1:5001) = 0;
k=k';

) T2 =T1;

|
|
- i
I
i

for i=0:1:M

pause(0.01);

: ql=q(:,3);

; q2=q(:,4);

; dal =a(:,1);

: da2 =q(:,2);

E qld=qd(:,1);

: q2d=qd(:,2);

i dqld = qd(:,3);

" dg2d =qd(:,4);

i el =qld—-ql;
e2=qg2d—-q2;

del = dgld—dql;
de2 = dg2d — dg2;

figure(l);
subplot(211);

plot(t/ qll 'b',t/ qld/ 'r');

! hold on;
i xlabel( 'time(s)');ylabel('qld, ql');

time/s

% Start Learning Control

3

sim( 'chap5 1sim',[0,5]);

Bl 5.4 XMKTESRHMAEERE

i
(1) F#F: chap5_1main. m

derrorl and derror2

Change of maximum absolute value
of derror] and derror2 with times i

T T T T

time/s

5.5 WXTSKRAEERBFENIREKS TR

% Adaptive switching Learning Control for 2DOF robot manipulators
clear all;
close all;



subplot(212);

hold on;

plot(t,q2, 'b', t,q2d, 'r');
xlabel('time(s)');ylabel('q2d, q2");

j=1+1;

times(j) = i;

eli(j) = max(abs(el));
e2i(J) = max(abs(e2));

SEEEDpEZE @S

deli(j) = max(abs(del)) ¥
de2i(7j) = max( abs de2) 2]
b
i1
end End o T
5555555555555 555555555555%555555%55%5%5% ]
figure(2);

subplot(211);

plot(t,qld, 'r', t,ql,'b");
xlabel('time(s)');ylabel('qld, ql');
subplot(212);

plot(t,q2d, 'r', t,q2,'b");

xlabel ('time(s)');ylabel('qg2d,q2");

figure(3);

plot(times,eli, ' *—r', times,e21i,'o—b');

title('Change of maximum absolute value of errorl and error2 with times i');
xlabel ('times');ylabel('errorl and error2');

figure(4);

subplot(211);
plot(t,dqld, 'r', t,dql, 'b');
xlabel('time(s)');ylabel('dgld,dql');
subplot(212);
plot(t,dg2d, 'r', t,dg2, 'b");

xlabel ('time(s)');ylabel('dg2d,dg2');

figure(5);

plot(times,deli, ' *—r', times,de2i, 'o—b');

title('Change of maximum absolute value of derrorl and derror2 with times i');
xlabel( 'times');ylabel( 'derrorl and derror2');

(2) Simulink F#F: chap5_1sim. mdl,

To Workspacel

—{w] . !
l'o Workspace?7 JA-{chapS_lpia|1t|—<4—-{ q |

S-Function  |To Workspace2

[chapi_i input

S-Function| Mux
™ S-Function2
= Tj-1
Clock To Workspace3 Fcn TR
: Workspacel
To Workspace @ i {_;\__

: o
From ‘
Workspacel E‘_I—’Swllch

Constant
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(3) WX EFRF . chap5_lplant. m,

function [sys, x0, str,ts] = spacemodel(t,x,u, flag)
switch flag,
case 0,
[sys, %0, str, ts] =mdlInitializeSizes;
case 1,
sys = mdlDerivatives(t,x,u);
case 3,

sys = md10utputs(t, x,u);
case {2,4,9}

sys=1[];
otherwise

error([ 'Unhandled flag = ',num2str(flag)]);
end
function [ sys, %0, str, ts] = mdlInitializeSizes
sizes = simsizes;
sizes. NumContStates

~.

sizes. NumDiscStates

N

sizes. NumOutputs =
sizes. NumInputs
sizes.DirFeedthrough =
sizes. NumSampleTimes
sys = simsizes(sizes);

x0 = [3;0;0;1];

str = [];

ts = [00];

function sys = mdlDerivatives(t,x,u)
a=1.0;

dl=ax0.3%sin(t);

d2=ax0.1% (1-exp(—t));

Il
~. o~

= o N B OB
~

~.

dgl = x(1);
da2 = x(2);
ql =x(3);
q2 =x(4);
toll =u(1);
tol2 =u(2);

ml=10;m2=>5;

11=1;12=0.5;
rl1=0.5,r2=0.25;
11=0.83+ml ¥ r1"2+m2 % 11"2;
12=0.34+m2 % r2"2;

g=9.8;

D=[il1+ 12+ 2% m2 % r2 % 11 % cos(q2) 12+ m2 * r2 x 11 % cos(q2);
i2+m2 % r2 * 11 * cos(qg2) i2];

C=[-m2%r2x11x*dg2* sin(qg2)
m2 % r2 x 11 % dgl * sin(q2),

—m2 % r2* 11 % (dgl + dg2) * sin(g2);

0];
G=[(ml*rl+m2x11l)*g*cos(gl)+m2x*r2x%gxcos(gl+qg2);m2*r2x%gxcos(ql+qg2)];
5555555555555 %5%5%5%5%5%5%5%5%5%

D2 = inv(D);
T=[d1;d2];
A= —-D2*C;
Z= -D2*G;

sys(1) = A(1,1) *» x(1) +A(1,2) % x(2) +Z(1) +D2(1,1) * ( — T(1) + toll) + D2(1,2) »

(—T(2) +tol2);



sys(2) =A(2,1) * x(1) +A(2,2) * x(2) +Z(2) +D2(2,1) * ( - T(1) + toll) + D2(2,2) * ( - T(2) + tol2);
sys(3) =x(1);
sys(4) =x(2);
function sys = md1Outputs(t, x,u)
sys(1) =x(1); % 55— KT M U dgl
sys(2) =x(2); % 5 AR MM B da2
sys(3) =x(3); BN RTME a1
sys(4) =x(4); B AR ME a2
4 RS FRERF: chap5_lctrl. m,
function [sys, x0, str,ts] = spacemodel(t,x,u, flag)
switch flag,
case 0,

[sys, %0, str,ts] =mdlInitializeSizes;
case 3,

sys = md1Outputs(t, x,u);
case {2,4,9}

sys=1[];
otherwise

error([ 'Unhandled flag = ', num2str(flag)]);
end
function [ sys, x0, str, ts] = mdlInitializeSizes
sizes = simsizes;

sizes. NumContStates
sizes. NumDiscStates
sizes. NumOutputs =
sizes. NumInputs
sizes. DirFeedthrough
sizes. NumSampleTimes
sys = simsizes(sizes);

x0 = [];

str = [1;

ts = [00];

function sys = mdlOutputs(t, x,u)
qld=u(1);q2d=u(2);
dgld=u(3);dg2d =u(4);

dgql =u(5);dg2 =u(6);

ql =u(7);qa2 =u(8);

~o o~

R = O N O O

j=u(9);
el =qld—-ql;
e2=qg2d—-q2;

del = dgld—dql;
de2 = dg2d — dg2;

Fai=eye(2);
Kd0 =[210 0,0 210];

% Iteration number

if j==
beta=1;
else
beta=2 * j;
end

sys(1) = beta % 210 * (el + del);
sys(2) = beta x 210 * (e2 + de2);

(5) 84 % : chap5_linput. m,

function [sys, x0, str,ts] = spacemodel(t,x,u, flag)
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switch flag,
case 0,
[sys, %0, str, ts] =mdlInitializeSizes;
case 3,
sys = md10utputs(t, x,u);
case {2,4,9}
sys=1[1;
otherwise
error([ 'Unhandled flag = ', num2str(flag)]);
end
function [ sys, %0, str, ts] =mdlInitializeSizes
sizes = simsizes;
sizes. NumContStates

~-

sizes. NumDiscStates

N

sizes. NumOutputs
sizes. NumInputs
sizes. DirFeedthrough

~-

~.

= R O K& O O
~

~.

sizes. NumSampleTimes
sys = simsizes(sizes);

x0 [1;

str [1;

ts [00];

function sys = md10utputs(t, x,u)
qld = sin(3 * t);

g2d=cos(3 * t);

dgld =3 % cos(3 * t);

dg2d= -3 * sin(3 * t);

sys(1) = qld;
sys(2) = g2d;
sys(3) = dgld;
sys(4) = dg2d;

5.2 ETHZmAENEENIMTEREIEH X
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5.1 WP E R 5. 1 R I A B B R Z ANy EEX E AT, 2w T Mgk 22
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Xt g G IO E R
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Hrp
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Hop
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T
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MB/AENREMIEHTEMATLABIRE—&#ti&it A& ( E2k )

qld, ql

q2d. q2

errorl and error2

dqld, dql

dg2d. dq2

2 T T T T T

_9 1 1 L 1 1

3.0

B 5.7 WEFE IS KHNABERE

Change of maximum absolute value of error] and error2 with times i
0.45 T T

0.404

0 5 10 153
time/s
B 5.8 WXH 15 XAERENRERSITE
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(D FRRF.

clear all;
close all;
L=3001;

Change of maximum absolute value of derror] and derror2 with times i

0.50

E
0.45

0.40
0.35
0.30
0.25
0.20
0.15

derrorl and derror2

0.10,
0.05

%

B 510 MWXT 15 XABEERFHIREWH TR

chap5_2main. m.,

t=1[0:0.001:3]";

T1(1:L) =0;
T1=T1';
T2 =T1;
T=[Tl T2],;
el(1:L) =0;
el=el';
e2=¢el;
del = el;
de2 = del;

e=[el e2 del de2];

pause(0.01);

sim( 'chap5 2sim',[0,3]);

ql =qa(:,3)
a2=q(:,4)
dgl =q(:,1
dg2=q(:,2
gld=qd(:,

’

)
)
1

’

)

’

time/s

10

TERoHEE sl



----- NBEARNEEMNIEHTEMATLABIR—# gt A% ( B2k )

q2d=qd(:,2);
dgld = gd(:,3);
dg2d = qd(:,4);
el =qld—ql;
e2=qg2d—-qg2;
del = dgld—dql,
de2 = dg2d — dg2;

figure(1);

subplot(211);

hold on;

plot(t,ql, 'b', t,qld, 'r');

xlabel ('t (s)');ylabel('qld, gl (rad)"');

subplot(212);

hold on;

plot(t,q2,'b', t,q2d, 'r');

xlabel ('t (s)');ylabel('g2d, g2 (rad)"');

j=itl;
times(j) = 1i;

eli(j) = max(abs(el));
e2i(J) = max(abs(e2));
deli(j) = max(abs(del)
de21i(7j) = max(abs(de2)

end

)
)

’
’

[
566760

o°

0090090029029 0290290290200990902
5555555555555 5555%5%

o°

figure(2);

subplot(211);
plot(t,qld, 'r', t,ql, 'b");
xlabel('t');ylabel('qld,ql');
subplot(212);

plot(t,q2d, 'r',t,g2,'b");
xlabel ('t');ylabel('q2d,q2');

figure(3);
plot(times,eli,'* —r', times,e2i,'o—b');
title('Change of maximum absolute value of errorl and error2 with times i');

xlabel( 'times');ylabel('errorl and error2');

figure(4);

subplot(211);

plot(t,dqld, 'r', t,dql, 'b');
xlabel('t');ylabel('dgld,dql');
subplot(212);

plot(t,dg2d, 'r', t,dg2, 'b');
xlabel ('t');ylabel('dg2d,dg2");

figure(5);

plot(times,deli,'* —r', times,de2i,'o—b');

title('Change of maximum absolute value of derrorl and derror2 with times i');
xlabel( 'times');ylabel( 'derrorl and derror2');



(2) Simulink 7% .

chap5_ 2sim. mdl,

To Workspacel

To Workspace7
chap5_2input ]
S-Function| chap5_2ctrl
[te] I S-Function2 To
From Workspacc” Workspace4
(-
Fen From
Clock To Workspace; § Workspace| P
[tk] % >
Workspace e
From ——
Switch
Workspacel W
Constant

chap5_2plant

S-Function

4]

Workspace2

(3) PHX R TRET

function [ sys, %0, str, ts]

switch flag,
case 0,

chap5 2plant. m,

spacemodel (t, x, u, flag)

[sys, %0, str, ts] =mdlInitializeSizes;

case 1,

sys = md1Derivatives(t, x,u);

case 3,

sys = md10utputs(t, x,u);

case {2,4,9}
sys=1[1];
otherwise

error([ 'Unhandled flag

end

', num2str(flag)]);

function [ sys, x0, str, ts] =mdlInitializeSizes

sizes = simsizes;
sizes. NumContStates
sizes. NumDiscStates
sizes. NumOutputs
sizes. NumInputs
sizes. DirFeedthrough
sizes. NumSampleTimes

= o N DM O D

PN

~.

sys = simsizes(sizes);

%0 = [3,;0;0;1];
str =11;
ts = [00];

function sys = mdlDerivatives(t,x,u)

$a=1,;
a=rands(1);

dl=ax0.3%sin(3%pix*t);
-t));

d2=ax0.1x% (1- exp(

dgl = x(1
dg2 = x(2
ql =x(3)

); % B — N T A
); S8 AN AEE dg2
; S —ARKTTME gl

dql

B
€
g
il
el



----- NBEARNEEMNIEHTEMATLABIR—# gt A% ( B2k )

Q2 = x(4); SE AKX AE o2

toll =u(1l);
tol2=u(2);

ml=10,m2=5;

11=1;12=0.5;
rl1=0.5,r2=0.25;
1i1=0.83+ml ¥ r1"2+m2 * 11"2;
1i2=0.3+m2 % r2"2;

g=9.8;

D=[1il1+ 12+ 2% m2 % r2 % 11 % cos(q2) 12+ m2 * r2 x 11 % cos(q2);
i2 +m2 % r2 * 11 * cos(q2) 12];

C=[-m2xr2x11x*dg2 % sin(q2
m2 % r2 * 11 % dgl * sin(qg2)

G=[(ml*rl+m2x11)*g ) +m2 % r2 x gx cos(gl +g2);m2 % r2 * g* cos(ql +g2)];
5555555555555 %55%5%5%5%5%%% %
D2 = inv(D);
Ta=[dl;d2];
A= -D2*C;
Z= —D2*G;
sys(1) =A(1,1) ¥ x +A(1,2) *x(2) +Z(1) +D2(1,1) * ( —Ta(l) + toll) +D2(1,2) * ( — Ta(2) + tol2);
sys(2) = A(2,1) * x(1) +A(2,2) * x(2) + 2(2) +D2(2,1) * ( - Ta(1) + toll) +D2(2,2) * ( - Ta(2) + tol2);
sys(3) =x(1);
sys(4) =x(2);
function sys = md10utputs(t, x,u)
sys(1) =x(1); % 55— A dgl
sys(2) =x(2); %AW A dg2
sys(3) = x(3); SHE-DRVMAE @
sys(4) = x(4); SHEADXRTMAE @2
(4 RIS FFEF: chap5_2ctrl. m,
function [sys, x0, str,ts] = spacemodel(t,x,u,flag)
switch flag,
case 0,
[sys, %0, str, ts] =mdlInitializeSizes;
case 3,

sys = md10utputs(t, x,u);
case {2,4,9}
sys=[1];
otherwise
error([ 'Unhandled flag = ', num2str(flag)]);
end
function [ sys, %0, str, ts] =mdlInitializeSizes

sizes = simsizes;

sizes. NumContStates = 0;
sizes. NumDiscStates = 0;
sizes. NumOutputs = 6;
sizes. NumInputs = 13;
sizes.DirFeedthrough = 1;
sizes. NumSampleTimes = 1;
sys = simsizes(sizes);

x0 = [];

str = [];

ts = [00];



function sys = mdlOutputs(t, x,u)
gqld=u(1l);gq2d=u(2);
dgqld=u(3);dg2d = u(4);

dgl =u(5);dg2 =u(6);

ql =u(7);q2 =u(8);

3=u(9);
el =qld—ql;
e2=qg2d-q2;

del = dgld—dql,
de2 = dg2d - dg2;

Fai=eye(2);
Kd0 =[210 0;0 210];

if j==
betaj=1;
else
betaj=2* j;
end
E=1.0,

delta y=[del—del 1+el—-el 1;de2—-de2 1+e2—-e2 1];

Kp0 =[210 0,0 210];
KdO = KpO;

Kpj = betaj * Kp0;
Kdj = betaj * KdO;
ej=[el e2]';
dej = [del de2]"';

Deltaj = [E * sign(delta y(1)) E % sign(delta y(1))]';
Tj = Kpj * ej + Kdj * dej + Deltaj;

sys(1) =Tj(1);
sys(2) = Tj(2);
sys(3) =el;
sys(4) = e2;
sys(5) = del;
sys(6) = de2;

(5) 84 % : chap5_2input. m,

function [sys, x0, str,ts] = spacemodel(t,x,u, flag)
switch flag,
case 0,
[sys, %0, str,ts] =mdlInitializeSizes;
case 3,
sys = md10utputs(t, x,u);
case {2,4,9}
sys=1[1;
otherwise
error([ 'Unhandled flag = ',num2str(flag)]);
end
function [sys,x0, str,ts] =mdlInitializeSizes
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-------- NBEARNEEMNIEHTEMATLABIR—# gt A% ( B2k )

sizes = simsizes;

sizes. NumContStates = 0;
sizes. NumDiscStates = 0;
sizes. NumOutputs = 4,
sizes. NumInputs = 0;
sizes.DirFeedthrough = 1;
sizes. NumSampleTimes = 1;
sys = simsizes(sizes);

x0 = [];

str = [];

ts = [00];

function sys = mdlOutputs(t, x,u)
gld=sin(3 * t);

g2d=cos(3 * t);

dgld =3 % cos(3 * t);

dg2d= — 3% sin(3 * t);

sys(1) = qld;
sys(2) = q2d;
sys(3) = dgld;
sys(4) = dg2d;
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------- NBEARNEEMNIEHTEMATLABIR—# gt A% ( B2k )
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-------- Mg AEHEFHMIGITEMATLABIH—% 881t A% ( 2k )
U5 ELARTTE - BEXF B D7 R DL T 1Y 3 I a2k AR A T ol
i (1) FFFF: chap5_3main. m,

clc;
clear all;

close all;

global old_delta
£=[0:0.01:1]";
k(1:101) =0;

' k=k';
delta(1:101) =0;
delta = delta';

M=50,
for i=0:1:M
i

pause(0.01);

old_delta = delta;
) sim( 'chap5_3sim',[0,1]);

ql=q(:,1)
dal =q(:,2);
gqld=qd(:,1)
dgqld=qd(:,2
e=qld—-ql;

' de = dgld—dql;

).
1);
)

figure(l);

hold on;

plot(t,ql, 'b', t,qld, 'r');

xlabel( 'time(s)"');ylabel('qld,ql');

j=1i+1;

. times(j) = 1i;

ei(j) =max(abs(e));
dei(j) = max(abs(de));
end

figure(2);

subplot(211);
plot(t,qld, 'r', t,ql,'b");

xlabel( 'time(s)"');ylabel('qld,ql');
subplot(212);
plot(t,dqld, 'r', t,dgl, 'b");

, xlabel( 'time(s)');ylabel('dgld,dql’');

' figure(3);

E subplot(211);

i plot(times,ei,'* —r');

) title('Change of maximum absolute value of error with times i');
xlabel( 'times');ylabel('angle tracking error');

subplot(212);



plot(times,dei,'* —r');

title('Change of maximum absolute value of derror with times i');

xlabel( 'times');ylabel( 'speed tracking error');

figure(4);
plot(t,delta, 'r');

xlabel ('time(s)');ylabel('Delta Change');

figure(5);
plot(t, tol, 'r');

xlabel('time(s)');ylabel( 'Control input');

(2) Simulink F#F: chap5_3sim. mdl,

To Workspace7
chap5_3input e

Mux —»

S-Function]

chap5 3adapt

S-Function2

-|t. old_delta]
From

To Workspace3 Fen Workspacel

=\

[tk |

Constant

Workspace2 Switch

To Workspacel

To Workspace4

" | Mux -——I chap5_3ctrl |—<

—--‘ chap5_3plant }—1—-—{ q |

S-Function3

S-Function To
Workspace2

Clock To Workspace

(3) BHIZEFRF: chap5_3ctrl. m,

function [ sys, x0, str,ts] = spacemodel(t,x,u, flag)

switch flag,
case 0,
[sys, %0, str, ts] =mdlInitializeS
case 3,
sys = md10utputs(t, x,u);
case {2,4,9}
sys=1[];
otherwise

izes;

error([ 'Unhandled flag = ', num2str(flag)]);

end

function [ sys, %0, str, ts] = mdlInitializeSizes

sizes = simsizes;

sizes. NumContStates

~-

sizes. NumDiscStates =

~-

sizes. NumOutputs =

sizes. NumInputs

~.

= U P O O

sizes. DirFeedthrough

B
i
€

i

g

T3
il



----------- NBEARNEEMNIEHTEMATLABIR—# gt A% ( B2k )

sizes. NumSampleTimes = 1;
: sys = simsizes(sizes);
: x0 = [];

str = [];

ts = [00];

function sys = mdlOutputs(t, x,u)
gld=u(l);dgld=u(2);
gl =u(3),dqgl = u(4);

e=qgld—-ql;
! de =dgld—dql;

Kp=5.0,Kd=5.0;

delta=u(5);
S=2;
if S==
tol =Kp * e+ Kd * de + delta * sign(de);
elseif S==
fai=0.02;
! if de/fai>1
sat=1;
elseif abs(de/fai)<=1
sat = de/fai;
elseif de/fai<—1
sat= -1,

end

! tol = Kp * e + Kd * de + delta * sat;
end

sys(1) = tol;

(4) HEN A FRF: chapb_3adapt. m,

function [ sys, x0, str,ts] = spacemodel(t,x,u, flag)
switch flag,

case 0,

) [sys, %0, str, ts] =mdlInitializeSizes;
case 3,
sys = md10utputs(t, x,u);
case {2,4,9}
sys=1[1;
otherwise
error([ 'Unhandled flag = ',num2str(flag)]);
end

function [ sys, x0, str, ts] =mdlInitializeSizes
sizes = simsizes;

sizes. NumContStates =

~.

sizes. NumDiscStates

PN

sizes. NumOutputs
: sizes. NumInputs =
' sizes.DirFeedthrough =

~.

1}
= = N B O O
~

~.

E sizes. NumSampleTimes
E sys = simsizes(sizes);
i x0 = [];

5 str = [1;

ts [00],;



function sys = mdlOutputs(t, x,u)
gqld=u(1l);dgld=u(2);
ql =u(3);dql =u(4);

de = dgld —dql;

Gama = 20;
delta = Gama * de' * sign(de); % Adaptive law
sys(1) = delta;

(5) WXL FRF: chap5_3plant. m,

function [ sys, x0, str,ts] = spacemodel(t,x,u, flag)
switch flag,
case 0,
[sys, %0, str, ts] =mdlInitializeSizes;
case 1,
sys = mdlDerivatives(t,x,u);
case 3,
sys = md10utputs(t, x,u);
case {2,4,9}
sys=[];
otherwise
error([ 'Unhandled flag = ', num2str(flag)]);
end
function [ sys, %0, str, ts] = mdlInitializeSizes
sizes = simsizes;

sizes. NumContStates =

sizes. NumDiscStates
sizes. NumOutputs
sizes. NumInputs =

sizes.DirFeedthrough =

~-

I
= O L, N O N

sizes. NumSampleTimes

sys = simsizes(sizes);

x0 = [0;1];

str = [];

ts = [00];

function sys = mdlDerivatives(t, x,u)
g=9.8;

m=1.0;

1=1.25;

b=2.0;

I=4/3%m*1"2;

sys(1) =x(2);

sys(2) =S;

function sys = mdlOutputs(t, x,u)
sys(1) =x(1);

sys(2) =x(2);

o
&
5 XE
P

o°
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-------- NBEARNEEMNIEHTEMATLABIR—# gt A% ( B2k )

(6) 84 T chap5_3input. m,

function [sys, x0, str,ts] = spacemodel(t,x,u, flag)
switch flag,
case 0,

[sys, %0, str,ts] =mdlInitializeSizes;
case 3,

sys = md10utputs(t, x,u);
case {2,4,9}

sys=1[1;
otherwise

error([ 'Unhandled flag = ',num2str(flag)]);
end
function [sys,x0, str,ts] =mdlInitializeSizes
sizes = simsizes;
sizes. NumContStates

~-

sizes. NumDiscStates

PR

sizes. NumOutputs
sizes. NumInputs

~-

= O O DN O O
~

~.

sizes. DirFeedthrough

~.

sizes. NumSampleTimes
sys = simsizes(sizes);

%0 [1;

str [1;

ts [00];

function sys = mdlOutputs(t, x, u)
gld = sin(t);

dgld = cos(t);

sys(1) = qld;
sys(2) =dqgld;
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-------- MB/AENREMIEHTEMATLABIRE—&#ti&it A& ( E2k )

M=[m; l,osmy =m L} +m, (1] +1+ 201, co8q,) + 1, +1,.my,=my =m, (L}, +
Lilc08q.)Flysmy =m0l +1,, C=[c;losscii=hq,sc,=hq,Thq,scoy=—hq,scp,=
0,h=—m,l,l,sinq,. G=[G, G,]|".G,=Gml,+m,l,)gcosq, +m,l,gcos(q, +q,),
G,=m,l,gcos(q,+tq,); THI KA, ()= [d,sin(t) d,sin(e)]", Hord, HiRERNTH
BEDLIE 5 .

HLES ARG SHCH m, =m,=1kg,l,=1,=0.5m.l,,=1.,=0.25m,],=1,=0. lkg X m*,
g=9.81m/s",

PN I B 38 A5 5 40 0 sin(2re) Fl cos(2me) o SR T AR UEBE 45 X6 2 00 I i 11 5 48
LWME— B MR R PERRE I x(O=[0 2x 1 0]',

1
ﬁ%ﬂ%&%éﬁtiﬁiﬁm&)w O} i T 5 BN
10 0 0
0 10

'=1|0 0 10 0
0 0 0 10
0 0 0 0 10
SRR B R 5 W BT RO ELET R 1. SR AR IE (5. 37) F H A R (5. 38) L i
HA R ME 5. 16~& 5.19 iR,
2
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PFEREP (—) . RAHEH 5.2 BBV T A 18 002 > 5 4l
(1) FFFF: chap5_7main. m,

clear all;
close all;

t=[0:0.01:1]";
k(1:101) =0;
k=k';

thetal(1:101) =0;
thetal = thetal';
theta2 = thetal;
theta3 = thetal;
thetad = thetal;
theta5 = thetal;

theta = [ thetal theta2 theta3 thetad4 theta5];
555 5555555555555 5555555555%5%5%

o0

M=5;
for i=0:1:M
i

pause(0.01);

SEEEDpEZE @S

o~

%

&

3
T

o]



----- NBEARNEEMNIEHTEMATLABIR—# gt A% ( B2k )

sim('chap5 4sim',[0,1]);

ql=q(:,1);
dal =q(:,2);
a2=q(:,3);
da2 =q(:,4);
qld=qd(:,1);
gq2d=qd(:,2);
dqld=qd(:,3);
dg2d = qd(:,4);
el =qld—ql;
e2=qg2d—-q2;

del = dgld—dql;
de2 = dg2d — dg2;

figure(l);

subplot(211);

hold on;

plot(t,ql, 'b', t,qld, 'r');

xlabel( 'time(s)"');ylabel('qld,ql (rad)"');

subplot(212);

hold on;

plot(t,q2, 'b', t,q2d, 'r');

xlabel( 'time(s)"');ylabel('g2d, g2 (rad)"');

j=1i+1;

times(7j) = 1i;

eli(j) = max(abs(el));

e2i(J) = max(abs(e2));

deli(j) = max(abs(del));

de2i(j) = max(abs(de2));

end
D DD PP DD

figure(2);

subplot(211);

plot(t,qld, 'r',t,ql, 'b");

xlabel('time(s)');ylabel('qld,ql');

subplot(212);

plot(t,q2d, 'r', t,q2, 'b");

xlabel('time(s)');ylabel('g2d, q2");

figure(3);

plot(times,eli,'* —r', times,e2i, 'o—b');

title( 'Change of maximum absolute value of errorl and error2 with times i');
xlabel( 'times');ylabel('errorl and error2');

figure(4);

subplot(211);
plot(t,dqld, 'r', t,dql, 'b');

xlabel( 'time(s)');ylabel('dgld,dql');
subplot(212);
plot(t,dg2d, 'r', t,dg2, 'b");

xlabel( 'time(s)"');ylabel('dg2d,dq2"');

figure(5);
plot(times,deli,'* —r', times,de2i,'o—b');



title('Change of maximum absolute value of derrorl and derror2 with times i');

xlabel( 'times');ylabel( 'derrorl and derror2');

(2) Simulink 7% : chap5_4sim. mdl,

To Workspace7

i

chap3_dinput
Mux

To Workspacel

S-Function1

From
Workspacel

Workspace3  Constant

Lo
Switch
From

> —-—I chap5_4ctrl Hchapﬁ_&tpiant’—-

S-Function3

theta_1

=il

S-Function

{9

To
Workspace2

g

Clock To Workspace

(3) TEHIE TR . chap5_4ctrl. m,

function [sys, x0, str,ts] = spacemodel(t,x,u, flag)

switch flag,
case 0,

[sys, %0, str, ts] =mdlInitializeSizes;

case 3,

sys = md1Outputs(t, x,u);
case {2,4,9}

sys=[1;
otherwise

error([ 'Unhandled flag = ', num2str(flag)]);

end

function [ sys, %0, str, ts] =mdlInitializeSizes

sizes = simsizes;

sizes. NumContStates = 0;
sizes. NumDiscStates = 0;
sizes. NumOutputs = 2,
sizes. NumInputs = 13;
sizes.DirFeedthrough = 1;
sizes.NumSampleTimes = 1;
sys = simsizes(sizes);

x0 = [1;

str = [];

ts = [00];

function sys = md1Outputs(t, x, u)



----------- NBEARNEEMNIEHTEMATLABIR—# gt A% ( B2k )

qld=u(1);q2d=u(2);
dgld=u(3);dg2d =u(4);

el =qld-ql;
e2 =qg2d-q2;
e=[el e2]"';

del = dgld—dql,
' de2 = dg2d — dg2;
de = [del de2]';

Kp =10 % eye(2);
Kd = Kp;

thetal =u
theta2 =u
theta3 = u
thetad = u
theta5 = u(13);

theta = [ thetal theta2 theta3 thetad theta5]';

).
);
)

A A A
)

faill = dg2 * sin(g2);fai2l = —dql * sin(qg2);

) fail2 = faill — fai2l;fai22 =0;
E fail3 = cos(ql);fai23=0;
: faild = cos(ql + q2);
i fai2d = cos(ql + q2);
fail5 = sign(del);
fai25 = sign(de2);
Fai=[faill fail2 fail3 fail4 fail5;

fai2l fai22 fai23 fai24 fai25];

tol = Kp * e + Kd * de + Fai * theta;

sys(1) = tol(1);
sys(2) = tol(2);

(4) HIENHET#F . chap5_4adapt. m,

function [sys, x0, str,ts] = spacemodel(t,x,u, flag)
switch flag,

case 0,
[sys, %0, str, ts] =mdlInitializeSizes;
case 3,
sys = md10utputs(t, x,u);
case {2,4,9}
sys=1[1];
otherwise

error([ 'Unhandled flag = ', num2str(flag)]);
' end
E function [ sys, %0, str, ts] =mdlInitializeSizes

sizes = simsizes;
) sizes. NumContStates = 0;
E sizes. NumDiscStates = 0;
sizes. NumOutputs = 5;



sizes. NumInputs = 8;
sizes.DirFeedthrough = 1;
sizes. NumSampleTimes = 1;
sys = simsizes(sizes);

x0 = [1;

str = [];

ts = [00];

function sys = md10utputs(t, x, u)
gld=u(1l);g2d=u(2);
dgld=u(3);dg2d=u(4);

ql =u(5);dql = u(6);
q2=u(7);dq2 =u(8);

del = dgld—dql;
de2 = dg2d — dg2;
de = [del de2]';

faill =dqg2 * sin(qg2);fai2l = —dql * sin(qg2);

fail2 = faill — fai2l,;fai22=0;

fail3 = cos(ql);fai23=0;

faild = cos(ql + q2);

fai24 = cos(ql + q2);

fail5 = sign(del);

fai25 = sign(de2);

Fai=[faill fail2 fail3 fail4 fail5;
fai2l fai22 fai23 fai24 fai25];

Gama = 10 * eye(5);

theta = Gama * Fai' * de;

sys(1) = theta(1);
sys(2) = theta(2);
sys(3) = theta(3);
sys(4) = theta(4);
sys(5) = theta(5);

(5) XS EFRF . chap5_4plant. m,

function [ sys, x0, str,ts] = spacemodel(t,x,u, flag)

switch flag,
case 0,
[sys, %0, str, ts] =mdlInitializeSizes;
case 1,
sys = md1Derivatives(t, x,u);
case 3,
sys = md10utputs(t, x,u);
case {2,4,9}
sys=1[];
otherwise
error([ 'Unhandled flag = ', num2str(flag)]);
end
function [ sys, %0, str, ts] =mdlInitializeSizes

sizes = simsizes;

sizes. NumContStates = 4;
sizes. NumDiscStates = 0;
sizes. NumOutputs = 4,



----------- NBEARNEEMNIEHTEMATLABIR—# gt A% ( B2k )

sizes. NumInputs = 2;
: sizes.DirFeedthrough = 0;
i sizes. NumSampleTimes = 1;
E sys = simsizes(sizes);
x0 = [0;2%pi;1;0];
: str = [1;
5 ts = [00];
E function sys = mdlDerivatives(t,x, u)
] g=9.81;

nl=1,m2=1,;
11=0.5;12=0.5;
lcl1=0.25;1c2=0.25;
I1=0.1;I2=0.1;

ql =x(1)
dql = x(2
g2 = x(3)
dg2 = x(4

);

);

mll=ml* 1cl"2+m2* (11"2+ 1c2"2+2 % 11 % 1c2 * cos(qg2)) + I1 + I2;
ml2 =m2 % (1c2"2 + 11 * 1c2 * cos(q2)) + I2;

m21 =ml2;

' m22 =m2 % 1c2"2 + I12;

M=[mll ml12;m21 m22];

h= —m2 % 11 % 1c2 * sin(qg2);
i cll =hxdqg2;
cl2=h#*dgl + h*dg2;

c2l= —hxdql;

c22=0;

C=[cll cl2;c21 c22];

Gl=(ml*lcl+m2*11) % gx*cos(ql) +m2* 1c2 * gx* cos(ql +g2);
G2 =m2 % 1c2 x g * cos(ql + g2);
! G=[Gl;G2];

dl =rand(1) * sin(t);
d2 = rand(1) * sin(t);
d=[d1;d2];

tol=T[u(1) u(2)]";

S=1inv(M) * (tol+d—C* [dgl;dg2] —G);

| sys(1) = x(2);
sys(2) =5(1);
: sys(3) =x(4);
sys(4) =5(2);
E function sys = mdlOutputs(t, x, u)
' sys(1) =x(1); % Anglel:ql
E sys(2) =x(2); % Anglel speed:dqgl
E sys(3) =x(3); % Angle2:q2
sys(4) =x(4); % Angle2 speed:dqg2



(6) 84 T chap5_4input. m,

function [sys, x0, str,ts] = spacemodel(t,x,u, flag)
switch flag,
case O,

[sys, %0, str,ts] =mdlInitializeSizes;
case 3,

sys = md10utputs(t, x,u);
case {2,4,9}

sys=1[1;
otherwise

error([ 'Unhandled flag = ', num2str(flag)]);
end
function [sys,x0, str,ts] =mdlInitializeSizes
sizes = simsizes;

sizes. NumContStates =

sizes. NumDiscStates

sizes. NumOutputs

sizes. NumInputs

sizes.DirFeedthrough =

Il
R B O B O O

sizes. NumSampleTimes
sys = simsizes(sizes);

x0 = [1;

str = [1;

ts [00];

function sys = md1Outputs(t, x, u)

gld=sin(2 * pi* t);
g2d=cos(2 * pi*t);

dgld=2 % pi* cos(2 * pix*t);
dg2d= — 2% pix sin(2 * pi* t);

sys(1) = qld;
sys(2) = q2d;
sys(3) =dqld;
sys(4) = dg2d;

PFEREF ()« ST YN 2 19 22 S AL T 18 AU ST 3 CRATE B 5. 3) .

(1) F#)F: chap5_5main. m,

% Adaptive switching Learning Control for 2DOF robot manipulators

clear all;

close all;

t=[0:0.01:1]";
k(1:101) =0;
k=k';

thetal(1:101) =0;
thetal = thetal';
theta2 = thetal;
theta = [ thetal theta2

[ 1;
o o 000009000 o 000009000 0000000
5 5555555555555 55555555%5%5%%



----------- Mg AEHEFHMIGITEMATLABIH—% 881t A% ( 2k )
for i=0:1:M % Start Learning Control
i

i pause(0.01);

sim('chap5 5sim',[0,1]);

! al=gq(:,1);

| dal =q(:,2);

i a2=q(:,3);

i dg2=q(:,4);

: qld=gqd(:,1);
i q2d=qd(:,2);
i dgld=qd(:,3);
dg2d = qd(:,4);
5 el =qld-ql;

E e2=qg2d—-q2;

del = dgld—dql;
de2 = dg2d — dg2;

: figure(1);

i subplot(211);

hold on;

plot(t,ql, 'b', t,qld, 'r');

xlabel( 't (s)');ylabel('qld,ql (rad)"');

subplot(212);

I hold on;

plot(t,q2, 'b', t,q2d, 'r");

xlabel( 't (s)');ylabel('qg2d, g2 (rad)"');

j=1i+1;

times(j) = i;

eli(j) = max(abs(el));
e2i(j) = max(abs(e2));
1

deli(j) = max(abs(del));
)

de2i(7j) = max(abs(de2));
end % End of 1

figure(2);
subplot(211);
plot(t,qld, 'r', t,ql, 'b");
xlabel('t');ylabel('qld,ql');
subplot(212);

! plot(t,q2d, 'r', t,q2, 'b');

! xlabel('t');ylabel('g2d,g2');

figure(3);
plot(times,eli,'* —r', times,e2i,'o—b');
title( 'Change of maximum absolute value of errorl and error2 with times i');

! xlabel( 'times');ylabel('errorl and error2');

figure(4);



subplot(211);
plot(t,dqld, 'r', t,dgl, 'b");
xlabel('t');ylabel('dgld,dql');
subplot(212);
plot(t,dg2d, 'r', t,dg2, 'b');
xlabel('t');ylabel('dg2d,dqg2"');

figure(5);

plot(times,deli,'* —r', times,de2i, 'o—b'

title( 'Change of maximum absolute value of

);

derrorl and derror2 with times i');

xlabel('times');ylabel( 'derrorl and derror2');

(2) Simulink F# ¥ : chap5_5sim. mdl,
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(3) #EHl#s TR chap5 5Sctrl. m,

function [sys, x0, str,ts] = spacemodel(t,x,u, flag)

switch flag,
case 0,
[sys, %0, str, ts] =mdlInitializeSizes;
case 3,
sys = md10utputs(t, x,u);
case {2,4,9}
sys=1[1;
otherwise

error([ 'Unhandled flag = ',num2str(flag)]);

end

function [ sys, %0, str, ts] = mdlInitializeSizes

sizes = simsizes;
sizes. NumContStates = 0;

sizes. NumDiscStates

1]
o
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i
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i

g
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il



sizes. NumOutputs = 2;
sizes. NumInputs = 10;
sizes.DirFeedthrough = 1;
sizes. NumSampleTimes = 1;
sys = simsizes(sizes);

x0 = [1;

str = [];

ts = [00];

function sys = md1Outputs(t, x,u)
gld=u(l);g2d=u(2);
dgld =u(3);dg2d = u(4);

ql =u(5);dql = u(6);
q2=u(7);dg2 =u(8);

el =qld—-ql;
e2 =qg2d—-q2;
e=[el e2]"';

del = dgld—dql;
de2 = dg2d — dg2;
de = [del de2]';

Kp=10 * eye(2);
Kd = Kp;

xite = [del sign(del);de2 sign(de2)];

thetal =u(9);
theta2 = u(10);
theta = [ thetal theta2]';

tol = Kp * e + Kd * de + xite * theta;

sys(1) = tol(1);
sys(2) = tol(2);

(4) HIENHETF#F: chap5_bSadapt. m,

function [sys, x0, str,ts] = spacemodel(t,x,u, flag)
switch flag,
case 0,
[sys, %0, str,ts] =mdlInitializeSizes;
case 3,
sys = md10utputs(t, x,u);
case {2,4,9}
sys=[1;
otherwise
error([ 'Unhandled flag = ',num2str(flag)]);
end

function [ sys, x0, str, ts] =mdlInitializeSizes

sizes = simsizes;
sizes. NumContStates = 0;
sizes. NumDiscStates = 0;

NBEARNEEMNIEHTEMATLABIR—# gt A% ( B2k )



sizes. NumOutputs =

2
sizes. NumInputs = 8;
sizes. DirFeedthrough 1
sizes. NumSampleTimes = 1
sys = simsizes(sizes);
x0 = [];
str = [];
ts [00];
function sys = mdlOutputs(t, x,u)
qld=u(1);q2d=u(2);
dgld=u(3);dg2d =u(4);

ql =u(5);dql = u(6);
q2=u(7);dq2 =u(8);

del = dgld—-dql;
de2 = dg2d — dg2;
de=[del de2]";

Gama = 10 * eye(2);
xite = [del sign(del);de2 sign(de2)];
theta = Gama * xite' * de;

sys(1) = theta(1);
sys(2) = theta(2);

(5) XM EFRF . chap5_4plant. m,
A “ {5 AT (—) 7,

(6) 84 T # % chap5_4input. m,
[F]“f BT (—) 7,

DF EARE R (=) ¢ HE T U0 45 1 2 01 AL T35 A0 ST il CRATEHE 5. 4)

(1) EFFF: chap5_6main. m,

% Adaptive switching Learning Control for 2DOF robot manipulators

clear all;
close all;

delta(1:101) =0;
delta = delta';

;
O L L L P L L P L P LT

M=10;
for i=0:1:M % Start Learning Control
i

pause(0.01);
sim( 'chap5 6sim',[0,1]);

ql=q(:,1);
dql =q(:,2);



----------- NBEARNEEMNIEHTEMATLABIR—# gt A% ( B2k )

g2=q(:,3);

dq2 = q( /4);
| gld=qd(:,1);

gq2d=qd(:,2);
dgld=qd(:,3
dg2d=qd(:,4
el =qld—-ql;
e2=q9g2d—-q2;
del = dgld—dql;
de2 = dg2d — dg2;

)i
)i

’

figure(1);

subplot(211);

hold on;

plot(t,ql, 'b', t,qld, 'r");

xlabel ('t (s)');ylabel('qld, gl (rad)"');

subplot(212);

hold on;

plot(t,q2,'b', t,q2d, 'r');

xlabel('t (s)');ylabel('g2d, g2 (rad)"');

j=i+1;
times(j) = 1;

eli(j) = max(abs(el));
e2i(J) = max(abs(e2));
deli(j) = max(abs(del));
, de2i(7j) = max(abs(de2));

end % End of 1
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subplot
plot(t,qld, 'r ,t,ql,'b');
xlabel('t');ylabel('qld,ql');
subplot(212);

' plot(t,q2d, 'r', t,g2,'b");
xlabel('t');ylabel('g2d,g2');

figure(3);
plot(times,eli,'* —r', times,e2i,'o—-b');
title( 'Change of maximum absolute value of errorl and error2 with times i');

xlabel( 'times');ylabel('errorl and error2');

figure(4);

subplot(211);
plot(t,dqld, 'r', t,dql, 'b');
xlabel('t');ylabel('dgld,dql');
: subplot(212);
plot(t,dg2d, 'r', t,dg2, 'b');
xlabel('t');ylabel('dg2d,dg2");

figure(5);

) plot(times,deli,'* —r', times,de2i,'o—b');

title( 'Change of maximum absolute value of derrorl and derror2 with times i');
xlabel( 'times');ylabel( 'derrorl and derror2');



(2) Simulink F#J¥ : chap5_6sim. mdl,
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(3) THEFFEF: chap5 6ctrl. m,
function [sys, x0, str,ts] = spacemodel(t,x,u, flag)

switch flag,
case 0,

[sys, %0, str,ts] =mdlInitializeSizes;
case 3,

sys = md10utputs(t, x,u);
case {2,4,9}

sys=1[1;
otherwise

error([ 'Unhandled flag = ', num2str(f
end

lag) 1);

function [ sys, %0, str, ts] = mdlInitializeSizes

sizes = simsizes;

sizes. NumContStates =

sizes. NumDiscStates

P

sizes. NumOutputs =

sizes. NumInputs

~.

sizes. DirFeedthrough

~.

= = O N O O

~.

sizes. NumSampleTimes

sys = simsizes(sizes);
x0 = [1;

str = [];

ts = [00];

function sys = mdlOutputs(t, x, u)
gld=u(1);g2d=u(2);
dgld=u(3);dg2d =u(4);

ql =u(5);dql = u(6);
g2 =u(7);da2 = u(8);
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el =qld—-ql;
e2=qg2d—-qg2;
e=[el e2]"';

del = dgld—dql,
de2 = dg2d — dg2;
de = [del de2]";

Kp =10 % eye(2);
Kd = Kp;

delta=u(9);
tol = Kp * e + Kd * de + delta * sign(de);

sys(1) = tol(1);
sys(2) = tol(2);

(D HEMNBE TR chapb 6adapt. m.,

function [sys, x0, str,ts] = spacemodel(t,x,u, flag)
switch flag,
case 0,
[sys, %0, str, ts] =mdlInitializeSizes;
case 3,
sys = md10utputs(t, x,u);
case {2,4,9}
sys=1[1;
otherwise
error([ 'Unhandled flag = ', num2str(flag)]);
end
function [ sys, %0, str, ts] =mdlInitializeSizes

sizes = simsizes;

sizes. NumContStates

~-

sizes. NumDiscStates

N

sizes. NumOutputs =
sizes. NumInputs =

~.

sizes. DirFeedthrough

~.

= = © = O O
~

~.

sizes. NumSampleTimes
sys = simsizes(sizes);

x0 = [];

str = [];

ts [00];

function sys = mdlOutputs(t, x, u)
qld=u(1l);q2d=u(2);
dgld=u(3);dg2d =u(4);

ql =u(5);dql = u(6);
g2 =u(7);dg2 =u(8);

del = dgld—dql;
de2 = dg2d — dg2;
de = [del de2]';

Gama = 10;
delta = Gama * de' * sign(de);
sys(1l) = delta;
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(6) 84 TH#)F: chap5_4input. m,

[l “fh AT (—) 7.,
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